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c 20 18,253,804 14,786,844 3,466,960
= 1,000,000
2 1,922,000
Al 15,331,804
c ALz 18,206,000 14,702,000 3,504,000
= 1,000,000
2 1,922,000
Al 15,284,000
T 4 - & 11,950,000 10,400,000 1,550,000
= 1,000,000
Al 10,950,000
MFAAH SR NAZ A 2,000,000 0 2,000,000
401 A& HI L 204 HI 2,000,000 0 2,000,000
01 Al&H| 1,992,800 0 1,992,800
OXF=HA MR Mgz HA 1,992,800
03 AlE 21| 7,200 0 7,200
OXF=HAHACX &Mz HA 7,200
ZDNL (S 2R~ AN ) & & 900,000 2,800,000 A 1,900,000
401 Al HI L £ 0HHI 900,000 2,800,000 A 1,900,000
01 Al& H| 894,330 2,790,000 A 1,895,670
OXIDMNZL(SRHZ A~ WAL HE|) &HE 894,330
03 AlE 201 Y| 5,670 10,000 N 4,330
Z2DNL (S AZHE~tH DAL HE) EF 5,670
SHMNYS~SMDItD S22 EE 700,000 1,000,000 A 300,000
401 AlEHIZL 2 0HY| 700,000 1,000,000 A 300,000
01 Al& H| 695,590 993,700 A 298,110
OSHEMLE~sDIIN E=&E 695,590
03 Al 201 Y| 4,410 6,300 A 1,890
OsHNES~SHDNIW E2EH 4,410
M= E 2 (2CHH )& 1,000,000 0 1,000,000
401 AlEHIZL 2 0HY| 1,000,000 0 1,000,000
01 Al&H| 993,700 0 993,700
OXF=HIEZ SEAS 993,700
03 A2 HH]| 6,300 0 6,300
OFF=HMIOUHEZ SZEAIY 6,300
NEZ2SETAl S3E XL AIY 2,000,000 4,600,000 A 2,600,000
2 1,000,000
Al 1,000,000
401 AlEHIZL 201 Y| 2,000,000 4,600,000 A 2,600,000
2 1,000,000
Al 1,000,000
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01 Al& H| 1,992,800 4,588,000 AN 2,595,200
ONZ=AN S22 &H 1,992,800
2 1,000,000
Al 992,800
03 Al 201 Y| 7,200 12,000 A4 ,800
oOXz=d =2 & 7,200
ZERLE AR 2R T2 Y| 350,000 0 350,000
401 AlEHIZL £ 0HY| 350,000 0 350,000
01 Al&H| 347,500 0 347,500
O=ZELRE RN A T2 FHH| 347,500
03 Al 201 Y| 2,500 0 2,500
O=ERERNA U T2 FHH| 2,500
SANZ2(OHEXNSAUSHA~MEZ) & 5,000,000 0 5,000,000
401 AIEHIZL 201 Y| 5,000,000 0 5,000,000
01 Al&H| 4,990,000 0 4,990,000
O A2 EAAIY 4,990,000
03 Al 20| 10,000 0 10,000
O Atz E&EAIS 10,000
2CUHH RS2 A 1,000,000 2,000,000 1,000,000
SE2H ZTUAN R3IE=2 WL 1,000,000 2,000,000 A 1,000,000
401 Al HI L 2 0HHI 1,000,000 2,000,000 A 1,000,000
01 Al Hl 993,700 1,993,000 999,300
o=2d Z2=UAM RIE=2 ME 993,700
03 AlE 21| 6,300 7,000 AT700
O=22d 2N 232 ME 6,300
TEZANES HHl ¥ 22 3,494,000 1,090,000 2,404,000
= 1,000,000
2 922,000
Al 1,572,000
WEAMD 82 2XNA 464,000 600,000 A 136,000
2 232,000
Al 232,000
401 AlEHIZL 2 0HY| 464,000 600,000 A 136,000
2 232,000
Al 232,000
01 Al&EH| 460,660 597,000 A 136,340
OuUsSAMD A8 2N 460,660
2 232,000
Al 228,660
03 Al 201 Y| 3,340 3,000 340
OuWSEAMND A2 RXZIHH 3,340
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S ZOHHEX B FHIAS 50,000 100,000 A50,000
401 Al HIZ 201 Y] 50,000 100,000 A50,000
01 A& HI 50,000 99,100 249,100
OTZHHEXIE HBIA 50,000
SRz BdHEE =4 500,000 0 500,000
= 500,000
401 Al HIZ 201 8] 500,000 0 500,000
& 500,000
01 A& HI 500,000 0 500,000
OsRUz B gAY 500,000
& 500,000
WEAD &2 2 Hd 100,000 90,000 10,000
& 50,000
Al 50,000
401 AIEHI L 20 100,000 90,000 10,000
= 50,000
Al 50,000
01 A& Bl 100,000 90,000 10,000
OwsAtn &2 2 e 100,000
& 50,000
Al 50,000
T2% OHWHEX &X 1,600,000 0 1,600,000
= 1,000,000
Al 600,000
401 A& HIZ 201 I 1,600,000 0 1,600,000
= 1,000,000
Al 600,000
01 A& HI 1,600,000 0 1,600,000
OE2Y CHHEX AX 1,600,000
= 1,000,000
Al 600,000
NESotd 2 TZAEE Fl 100,000 0 100,000
401 AIEHI L 2 CHYI 100,000 0 100,000
01 A& HI 100,000 0 100,000
Ounsctdz2ta TZAIE=2 FHl 100,000
E2ME L AME=S A2 400,000 0 400,000
401 AIEHIZ 28I 400,000 0 400,000
01 A& HI 400,000 0 400,000
OE=2 HE L AMEE sX2e 400,000
gAY M UXZ &X 280,000 0 280,000
& 140,000
Al 140,000
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401 A& HIZ 201 I 280,000 0 280,000
& 140,000
Al 140,000
01 A& HI 278,000 0 278,000
ogAMINE IMuIZ X 278,000
= 140,000
Al 138,000
03 A2 2 THHI 2,000 0 2,000
ogRAMINe Idutz &I 2,000
MEZ2 R 200,000 150,000 50,000
U 22X & WSAD GEXS HES 100,000 100,000 0
401 Al HI K 201 I 100,000 100,000 0
01 A& HI 100,000 99,100 900
OZU A2X & NSAHD TEXS
R 100,000
Notxe & HE 2EMHH 100,000 50,000 50,000
401 AIEHI L 2 0] 100,000 50,000 50,000
01 A& Hl 100,000 50,000 50,000
OXotxE L HY =& 100,000
CHEXEH 1,000,000 1,000,000 0
AEMA 02X Ba= 1,000,000 1,000,000 0
401 Al HIZ 201 1,000,000 1,000,000 0
01 A& HI 1,000,000 1,000,000 0
OxsHA OI=2EXN B&3 1,000,000
H&EH 018 243t 562,000 62,000 500,000
e ANEAHED| 245t 2,000 2,000 0
203 YR =&l 2,000 2,000 0
03 AIMZ=XH R =X H| 2,000 2,000 0
oLz zel gRxa 2,000
H=A N AMEFS 2FX A 30,000 30,000 0
307 glz2+ol & 30,000 30,000 0
02 2ltFAEX 30,000 30,000 0
O&EFA MHENMESE2AS 2HXE 30,000
AN 220 €3 ¥ F| 30,000 30,000 0
401 AIEHI L 20 30,000 30,000 0
01 A& HI 30,000 30,000 0
OX&EN 220 &x ¥ &l 30,000
Fgu~24840 HEANAEZ 4 500,000 0 500,000
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401 Al I 28I 500,000 0 500,000

01 A& HI 500,000 0 500,000
oOFEYu~248u NEANTZ HE 500,000

HE2IZH (=2 ) 47,804 84,844 A 37,040

Jl2dt(=21) 47,804 84,844 A 37,040

Jledul(=21) 47,804 84,844 A 37,040

201 L2l 28,004 59,524 A 31,520

01 At 2t 2l 26,004 38,960 A 12,956
OogBt+=EH| 10,640
ozg=+¢ 2,380
o=l 10,584
OLoiHZ &gt 27 2,400

02 3322l 2,000 20,564 A 18,564
023223 % HA 2,000

202 oddl 16,800 21,120 A 4,320

01 SLHOIYI 16,800 21,120 A 4,320
O=L0 bl 16,800

203 YR =&l 3,000 4,200 A 1,200

04 EANSSIHR=EHI 3,000 4,200 A 1,200
ORN2IYSZ=AHI 250,000& 128 3,000




